d. Lack of rCsourens

c. Lack of conscnsus

19. The Colgate Venlure Company is a scparate unit inside {he

Colgate-Palmolive Corporation. The pecople who work ip

this unit are constantly trying to

develop new products,

By setting up this unit, Colgate is trying 1o support

whai aclivily within the firmg?
a. Diversity
b. Technological advancement

ﬂ.lutraprencurshfp

d.The incubation phase ip the creative process

€. Process innovations

30, Which of the following is onc of the major differences

between the enireprencur and the Intraprencur?

8. The kind of work being done
b. The degrec of innovativeness
c. The amount of risk assumed
d.Talent as a manager

¢. Personal background

m:mﬁf$ﬁﬁ(#ﬁﬂ'ﬁﬁ+ﬂ=ﬁﬂ:+ﬂ3
1 Wiﬁﬂiﬁﬁﬂﬂiﬁﬂﬂiﬁﬁﬁlﬁ(ﬁusincss Reenginecring)?

ERESBBTHE S
2. ﬁﬁﬁmﬁﬂiﬁﬂﬁﬂéﬁﬁﬁﬁén‘ﬁijﬂﬁﬁ

EE(Time-to-Market )?

HRe
(=353 BT B 2 X Gy A SR AT il ke HLER - W Al

o EH AN ER -

(yRaieRimeR g8 m - HtHEAEAr BN 2RI HE L

HA AT EE RS NEE -

(2)RERANZERPFER DR  HEE2RPEERRA

A EERFLEERT RBAOTRT -
(MFBEERNEERMTBIERT R TEARERAREE S
IS4 EE Y -
(A)FE R RSN EREY » SR EMESR AT SN e
i HRAHAE - 9ARAEZER -
(FIRELAE - (B/&@An - T4 ha)
(a)Constant Elsticity of substitution production
Function
{b)Parcto-ordering and parcto-optimum
{c)Natoral Ratc uncmployment llypothesis
(d)Marginal Effccicncy of Investment

(e)Ricardian Equivalance principle

ER#®E (L)

EEHH:

1. A LEE LD EL R B $ - HRETLEI -

2. ARy - FFITERAAX R HAR - FRIF TS -

3. WERERF » A5 A -E TS - DR IRE DERHE - MEH &R

AFIAGTT TR -



. HiﬁﬂﬁjjiﬁaﬁiFﬂxtﬂIAm - MNESES R
Lﬂﬂﬁﬁﬂﬁﬂﬁﬁ~ﬁﬁﬂlﬁﬂ-ﬁmﬁﬂﬁﬁﬂﬁﬁﬂ
TZMEELL? (10%)
3ﬂﬁﬁﬂﬁﬂﬁﬁmﬁmﬁﬁ~ﬁﬁ1r$méﬁﬂa$M£

WEE - BRI A EV_ABRAEBE MBS LD 7
C10%)

#1:

il Fl B8 NEm (@

BT AEK 20 30 10

BHEH T HM T/10 2/3 3/5

2|k W 8 ] 6
(=2 10 14 1

PE | BltbLF 2 10 0

E |

— ~ WRERRL SRENE - SRS 400 - RIFH— Lo R Ak

ﬁm%ﬁﬁ¥ﬁﬁﬁﬁ'mﬂﬁﬁﬁﬁmﬁmﬁﬁl'ﬁﬂmﬁ
ZMﬂﬁﬁﬂﬁ#ﬁﬁﬁﬁ*ﬂﬁﬁﬁﬁﬁﬁﬁﬂﬁﬁ=
Lﬂ*ﬁ*h~ﬂ:ﬂﬂl£i&!ﬂﬁﬂ2'ﬁﬁﬁﬁﬁﬁﬁ
ﬂﬂﬁﬂﬂﬂﬂﬂﬁﬁ%HE?UM}
=22

HT &wl1 |23 4 EIE

AMBIER 3031 | 34 3033 | 4

LBﬂiﬁT_ﬁﬂ 3113231282831

Al

9 M BEIE T AMEEGARZANL  Wilsmap®d &
T B i B SRR — e SR - (10%)
3 ———
BT &% (1 |2 (3 |4]5]|6

BAIETER 34(32(35|34 |31 |32

- DEATZHRE - —HE ARSI AR TR

RITHREETRS > R H 81109 - SAERE &
W ETHRERAEESE AR T oB47I0ER4

| FHRREREARALEREE —H ? (15%)

2. PR & TRNZ AT - Mg FH &

S HTHLT BT TS 7 (15%)

%4 : i
TrmE® |12 |3 |4 |5 |s |7 |8
¥ | B |8 |«k|B8|x|k|B|K

TEHEDS (8 |5 [4 (6 |T |6

FIgCEFES (9 |7 |6 [8 |7 [5

| &

g — ] - BETH
W~ AT HTRASEY BRATRGAK O &

BREER  ATHESERTERZ AR FIBRS ‘MR
L5y ¥ B T 88k — A #2 HEEE - (30%)



%5 :

TERI AS | R | MRS | RS

F 3 15 2

i 5 9 I 2

BF Gty pge 4=2.132 ty 6, 5-2.015 tg. ps. 6=1.943
to.gs: 7T-1.895 g g5, B-1.860 t, 55, 9-1.833
to, 05 10=1.812 1y 4o, 11-1.1,796 X%, .., 1-3.84
X% gs. 2-5.99 X%, o, 3-T.81 X%y 050 4=9.49
Fo.05- L 10=4.9646 Fp ... 1,12-4, 7472
Fo.a5: 1, 14=4.6001 Fy ;5. 5, 5-5. 0503

TEEREE
AT BEE 5 1 1t Ll 5
- B AR

R KB R AT R L= RS, - e R R 1
BEMR AR |- - (RN - 8D LT HANENE
Pl (R - 0 RESEENHEANENERAF - i
ERERT QBB SRR S A MR EAL {4
ARG 0Yf FE st S R - B e I EW S B SN S L AT
0 A -

WU WIBENATIEE - FRBENEE - RRBTR

ANREREEREHF - SURMEIE APIZ:32 - UERA SR -
DHFTNAER SRR % -

PE R SR R AT R - BAGT ST
EE B REELRE LR BERLENHRIELT - R
WMEE ARG - FRTEELN OIEF 2 T aEsge - D
AL AR R H RS - LA T2 AR E
B - L ERESATRALRERE - RN SRERS - &
RS Rt AR ERFRLERRE -
B5 - ERHAEE L hERE - RYBEETFRER | BE
SOHHEEE LNHE - SEATEED KR - SRHEE
FRESAA GRS -

M1
|, SR B IR AN BRi TR AN RS R A
SEENENRAREA - (20%)
9 BRI — 15 A LIRS EROURE R 5 E o I I RGREE {E R
HEAEREE - (20%)
- NEREARLF
BREGEELHY - SEERDRY - FRIERRNE - FAK
BEiASEt . - HEEEE - ARREX - RO ERRBLIK
P SRR IR R MRS, SXEL L » JUch B AR A R R R 4 5%
A WET R EA i 2 TBL ~ P01 e Bl B O A Bl P i 1 A R
FREREHHWEENES -
CEHBE ST ASKENOHL T » £#ERTHRRORX
B ERA - BRtS bR ey 3 b L0 a6 P R R R T0% - thsli
REEFHED - THREARET—BREARES BT - PR USEE



RO By b B SR B BB EE150-200 A A4 - #9407 35%
ELAEHARAT ¢ 7705 B B G e 2 SUSNY ~ LS o A
Wm%-Eﬂmtﬂ$mm#-imﬂﬁm—wﬁkﬁ:Eﬁﬁﬁﬂ
PR MR 1 OB ST RN TR B TS - M A B %
(FESOALUF) RESTS10% - HEORMNTHHE—BRE  RE4%
BREZHETES - RE L SANPARARATNIRL RS -
HE I BHELEASEA A RSRRERART - B2 LR EHT
NTRA#E HRHB S -

- = RIS MR - 4 0 BB S Sy
AH - 0 B ANR NS ELATRE R 2 EER 48R
LR IERRNRRATEINSENEE  AZBRBTEME -
HEABOHRELTHE - RENENES - BRGS0 LR
o - Bt - 5 RRRARA ARSI B AR SN TR
FRIEIEE + 131 ARG -

(Rt bilng o d o) fotilzg i} a S AR T U ey
REREY -~ R R AL RN 2T 43—~ DA @ B 0 45 ST - oy R
~ AR RIS - L PR R R - A RSB A S

E‘Hﬁé‘ﬂi‘]E’ﬁiﬂﬂﬁﬁﬁﬂﬁ&ﬁﬂﬁﬁ&ﬂﬂhﬁﬁ ¥
BEERARA TSR CLT : AFME (6-154) - Ll A5
R¥#E(28) - BB (SRABRHARE) - ARIERERERSEN
WER (HESY - BRTTH - LIFAL) o FF - —REEARL AN
BRT=5y IR - R AT (FAM500%8) SERE (%
RIS ENEERA] - MEESE) - BORBAKGEH—HEHy

BT AL+ UAE— R A B S R RS -

DI S AR RN R YR - 78RR
ELR L BRRTEOMBEHSEMSEE - ARANED
A —FWIFICCA (REH AR FRR) ZReukA - R4
NEFARINEF c FREFSHEEASEHLRSYRALTE
# HERERAIERAZSEQNLE -

BRARRREAA  THHERSE (FiEsggRt ok
-BEAERY HRUEDESESREHSS)  ARRERIER
B (ERBRERATNRERGCNERALEROZATERENS
#ifik) - FEsnN B - SRR ER S ESE/ M

e
O PR TRE-1 [ a-F PG L oL gtk e 1k A A

ES A oy G R R 1 A o P A AR 2 (25%)
, A
) IRWENRE AL ASTHR  REgATNSEER #0
A E I T B R ER R RREET ? S - (35%)

Ly -l

(—)fTE A2 Wil #2 (i ndi f fercence curve) ? BiliEg ML fIREFTE ?
AL FE RN - (155)

(CHRMERVAEEE ? BBEHBER - NEREMRAPTEN
S 30 R T AT R B 2 BRAE - (155)

()R EET 2 RPRBEHET R SHYBENEAZEE (159)

(MRBELHEEH S LT TTEE - $ERUHeEim
BEIE ¢ (1543)



(h)AFHRNIEUZ{ - [ HE B HHTRE 7T B B RN AT S H L
FllBAKHE - (1551)
(FOMEHGE . (FPEHS » #£21F45)
(1)Cob-web mode]
(2)Giffen goods
(3)Life-Cycle Consumption Hypothesis
(4)Phillips’ Curne

(5)0pen-market operations

SR TR

FREEREEMRTL: T RIEAMTRRE , 25D - SARERE

HREREERBROEYS (RHKT) @80 — - =5

— ~ TP R AT 2 (159)

— BREHRREEEEZNEN TR SR TS we
? A[EEAMATTER L AL ? (205)

=~ AR E RORTE » SR oA AR
= (35471)

EUFRIET M - -
0y - SISTRAIERR (SIER) - FUMHATE TTHERINIR - (309)

SRESE
— EE (FEAS 8
L. TQC

2. WATH

Hl

L1l

3. B P (Re-engincering)

A, T E g

5. Tr#HE T (Marketing Mix)

6. { ¥l 5 (Convenience products)
1. LIFO

8. T-fE5#i (Job Analysis)

9. NBO
10. AT Bk

- EBRHEE TR B R E B - IR TR B e

FAF DA - W8 REHPR R EHE 2B INOBEBGE
WML - (Z1+53)

- BT RO BE F F i OR - S I R TR s Y Bl 4R AT

EFE? MHLEHRR - A REQNEEGBERD? WM
fmelss ? (=443



BMELEH R ESEHUH - S THERMEN(N)

(X0T) « HFHH S0 G & JBl - 10T -

MEE DB S SRR X « TR < G0 5 R

THZ B S LM A ThM R « BREH S0 M oh £kl Y 3354 [l 18
IR RN ISR « | B iRk - bR RIS ()

(X01) - /My HE(VEIdBE

YHEHETY - LHdE Y EERC)FRFLTYAE AL

2 Drrh Y ERIOENE) (I - o : 1) PG LT B (D)
: ch B I = GO BTRE RN « o S oo T B 0 e N 0 3 (b )

= L By

BRI TEEEL « S LHdH Y% Y B e WS E
PR I — RIS B Y R HRUHTHEREHE(=)
(%S) - MY ZHNERE¥EY - EfLFHN(D)

(%G)(Spo03 JO1J3JUT)

FHA LY FXLABTRME - WE - 48R e
e B BT - T E8EHIBENE « [HHBTHISEE RS ()

o E42d B EIHBY
SN . WY, W dE - EH, SOYROEYE . BER
( 1) v il ¢
HEHF=Z4+V

BBy Y Fa44

HE B9 1fd 5% 4 i1 & 5 kg - 75 B 1 [




B B RE T - (10x)

COBURSTIACIUE Lt nILL 1915 AR ) o)
BT R 7250k %7 BT » 18t = g
BB S LRI DR © 150573y 558«
REHCBMARRNCERA - (10x)

GoBREMTEESE U vt vk gy -
BIEH IR RS R ALK - 15810153
WERE WL ERO RIS RSB RIL RS - s
LA BT RBRR R R0 T3y - (1ox,

ML SMBKTIRA ABEUAR 6 /18 + B35 1550
REARTTRE - (R RS RS N A e
TAIRRR * F5 S ES0% O MET 5 - s T » sy
ALK S RYORSTI SIS IOV A /1S ~ B2 1 /N6 s
ST =~ (10%)

AR i S TR
0 20 40 80
1 40 52 91
2 50 62 95
3 58 71 97
4 65 72 98
5 67 83 99
6 68 86 99

(- BUH — HTA SR M E R - H— AR RN R R
B PR S T O O o BSON BL S BT s T T T e MR SRR
DR EEHGE I - AR S T REESHARSR

FERIRIFE « (10%)
(+)EEZEETERANARETHENESRNEA B (cfficent
number of offices) ' BT RIEHENFHE
(a)%HA - B_EA - §EHNEHE  HENEREZAS

BERSHNE -
W~ 100-106. B - 206
G- BEAW
(D) BN B EL AR AR

LuC- 2204290G
Mk AR SRR SR RET RN " 5% - AR

Kt F A BB B (MR RHE - 1A E RO A (T T 730
MBS & B - (10%)

fHiRa
T TR Y
=, :.-,f-:-—--”} x &R, B20D,
M
= }:1-3 I.,EB'EJ
- ~ %
-ﬁ"ﬁ}b?ﬁ r-_ft;r: Ni+xgomax ~NCos %
e Eb}hﬂ (I _ &i}"i_' i

wx =



_:.-/n'“ﬂﬂ—f;;ﬁ
sf e A B i gy

i - B MEAR TRATEAR MERESESD ? HEEN
T BRNEED?

B~ BT (OB ASSEBR A L AHHE 2 M8 (a, bR 5=/ 53 5 ] 4< ] 2
SR RWETTS (SmpE) EZFEN + (Indefinite
integration)



‘BulZATEUR "D
“#o1 10017000 P
"Buipea] "3
“Burziueslo °q
‘Butoued 8
B DJoa 11 yinoyj
se uolielado 10 STy unl 0] MOPOOL)] 2I0W Auedmod 1)
UTyl 1A PEAUY UOISIAIP Yoes POAO[[E 39 JO Y2104 Y2B[ USYR '
pouue|d se 02 s3uly] 2ans YNIEW D
TATIATIOD] IO
pue A[jU312JJ0 S|B02 [BUO1IEZIUERI0 IAITYIB P
*A[9AT1D2) )2
19y}sfo] Buiyioa 2Je saofo(des [1® 18y} SINSO2°D
‘Jauuem [B2130] € Ul suoliduny SNOLIBA 994} 9Z1Ue310 "q
-gu015193p [82180] Oyem S|e03 UOIIBZIUBZI0 do[aaap e

01 ST ssa2001d jUSEDBERUBE AU} JO gsodind Axemiad oqI |

(L L EES « L1\ 40M « R YeR L REE S BT
BeE : U=

o =



a. Quantitative
3. Ann Thomas is a shift supervisor in a fast-food

b. Behavioral
restaurant. She has noted that way the scrving line is

¢, Classical
sct up causes people 1o get in each other' s way and

d. Contingency
other incfficiencics. Without asking her boss, she takes

e, Systcems )
it upon herself tn rearrange the line to make it more 6. At United Pac\cel Service, each task that operating
efficient. Wnat role is she fulfikking? cuployees perform is carefully studied in oeder to
® Leader prosote maximun motion studies, o standardixe s
b. Figurehead mcthods. What appotach to management is UPS using?
¢.Liaison

a. The classical UPS using?
d. Resource allocator

b. Managesent science

c. The behavioral perspective
d. Contingcncy theory

¢. Scientific managemcent

- t
7. Quaker Oats recently bought scveral busincsses tha

e. Entreprencur

4.Ed Smith is a plant manager for Bell Electronics, The
morning he presented two retiting employees with
ccriisicate of appreciation and gold wathes. What thoy

managerial role was Ed fulfilling?

- * g mail
folt would be more comatible whit the copmpany S
a. Leader

i i he
business. What was Quaker Oats hoping lo gain by 1
b. Disscminator

c. Figurchead

d. Resource allocator

- - . la[f
inlcracyion of thesc new busincsses and 11s prl
business?
a.Opcn systems gain
b. Copscd systemils recersal

e. Spokesperson

3.Dave White is often heard saying that the way to

f c. Syncrgy
motivate workers is to provide them with attractive wage

and benefit packages. What school of thought dose his
e, Leverage
vicw reflect?

d. Entropy



8. Joe Smith is overheard lelling one of his friends, : Yoy 10. Many organizations now have units which monitor a host of

always think the way to solvc a problem is to develop a magazincs and ncwsspapers looking for srotics which may

mathematical model that is supposed 1o represent the have an impact on thw organization. Which of the following

situation. It just docsn’ t work that way. You have yo use do these units represeni?

your head and try different apporaches under fiffercnt a, Management information sysieams

circumstances. "What theory is Joe advocating? b. Bounfary spanning
c.Organizational control

d. Environmental scanning

a. Addministrative managemcnt

b. Behavioral management
e Strategic planning

¢. Quanti tative minagemecnt B
11. At 3M, managers are expected Lo gencrate a significant

d. Systems _
part of the company’s income from products that did not

exist five years ago. The managers arc cvaluated on the
degree on the degree to which they meet this standard.

¢. Conlingency
3. Alladin Lamp Company recently changed some of its old

personnel policics. As a result, it now attcmpts (o ¥hat model of organizational effectivencss dose this

provide long-term caploymeni for all its cuployees, has

represent?
atlempied Lo incereasc employce involvement in decision a. Systcment resource
making, and is showing greater concrn for the overall b. Goal
velfare of its smployees. What managemenl approach is c. Internal process
this? d.Strategic consiitucnices
a. Theory A c.Organization design
b. Theory ¥ . 12. Auto manufacturers are required lo altion a certain
c. Type Z average fucl-efficiency level for their cars. They try to
d.Contingency theory ’ attain the mandated levels, but they also try to get deadline

e. Systems theory extensions, The automakers' approach io social responsibility

1=



a.obligation.

b. responsc.

c. coniribution.
d. obstruction,

¢ opposition.

13. Baker Enlerposes manufaciure 11s products in the United

States but purchases many of is raw materials and

componcnts in foreign vountries. I1 maker jts products in

the United States and three other couniries. According to

the classification scheme in ihe test, Baker is a/an
a.domestic business.

b. interantional busipess.

c.multinational business.

d. inlercontinental busincss,

e.global business.

14, Elmore Incorrporated has just signed an agreement to
furnish its technology 10 a foreign company that wil]
manufacture Elmore’s product, sell ji in the foreing
country, and pay Elmorc a specificd pcrcentage of iys
sales. The kind of arrangement s known as a.a joint
venlure/strategic alliance.

a.a joint venture/siarategic alloance.
b. licensing.

c.direct investment.

d. exporting.

c. global involvement.

15. Japancse businesses have moved of their producyion 10

Thailand becausr labor cosis are much cheaper. The to¥
would suggest this is an example of

a.efficicnt business praclices.

b.a strategic alliance.

c. licensing,.

d. outsourcing.

C. cxporting.

16. 1f a U.5> company furnishes the facilities and cqupmen!

and a firm from Greece furnishes the operating capital
and they join togerther to build ships for internatioml
commcrce, ithey are involved in

a, ilmporting/cxporiing.

b. licensing.

c.a joint conlure/strategic alliance.

d. firect invesimenti.

e. outsouring.

17. After General Eleciric worte a long-range plan designé

to reduce the number of different busimesses the compdly
was in ,another plan was written that dealt specificallY
wiith sclling the swall-appliance io Black and Deecker.

What kind of plan is the second plan?



a.Strategic 20. In their book In Search of Exccellence, Peters and

b. Depar imental Waterman found that successful companice "sturk to their

¢. Functional kniting. " In other words, they concentrated on those
d. Operational thing they do well. To which component of organizational
¢ Tactial sirategy dosc this idea mwost directly relate?
18. Julie Barnes was just hired by XYZ corpoaration, During a. Scope
her first week op Lthe job, she was requirced to atiend ap b. Respurce deployment
orienatation program. The information presented during c.Distinctive compelence
this program would mosi likey fall into which of the d. Synergy
following categories? c. Innovation
8 Erograns | 21. In 1987, Allegis Corporation consisted of United Air
b. Polocies Lines, Hertz Rent-a-Car, and Westin Hotcls. United had
c. Projects purchascd and combined these firms inlo one corpation
d. Standard opcrating provedurcs because il was thought they coould accomplish morc joincd
c.Rules and regilations together than they could operating as scparale units.
19. Quaker Oats sold jis three nonfood businesses and ¥hich componenr of sirategy does this represent?
replaced themwith firgs in the food industiry. Which a. Scope
clement of corporate slrategy dose this choice compcic in b. Resource deployment

the food industry specifically adderss? ¢.Distinclive competence

8. Scope d. Symergy

b. Resource deployment . [nncwatici
c.Distinetive competence i 22. Quaker Oals purchased a small co, pany that provides
d. Synergy biscuil wix to fast-food chains. The purchasc was

c. Alignment made partly beeause it would provide an additional



24,

24.

outlet for products produced in other Quakcr plantis, To
which clement of siralcgy is this advaniagcous meshing
of thc two businesses most closcly relaied?

a. Scope

b. Resource deployment

c.Distinclive competence

d. Synergy

e. Innovation

Because it did not have enough plant capacity to produce
all the engines nceded, Chrysler Motor Company managers
made a decision to have the Mitsubishi Corporation
manufacturc some of the engines used in jts minivans,
This decision represenis a/an

a. busincss sirategy.

b. corporalc strategy.

c. functional siratcgy.

d. overall sirategy.

c.combinalion stratcgy.

Texas Instruments got into ihe waich business as a result
ofdevcloping a technology that radical ly changed the
naturc of wrisiwaiches. |[is straicgy included use of new
equipment and automalion io drive down cosis, This

cxample best represents which componceni of sirategy?

4. Synergy

b. Scope

¢. Resource deployment

d. Compctitive responsc
e.Dislinclive competence

25. Which of the following would give a corporaic planner
information helpful i1n i1dentifying organizalional
weaknesses?

a. Forccast decline in GNP the next year.

b. Distinct shift in customer preferences.

¢. Increased cusiomer complainis about product quality.

d. A competitor liquidating its business.

e, Strict regulations]l related to the company’ s primary
produci pending in Congress.

26. The Mansford Corporation provides tcmporary employees
such as lab and x-ray technicians io hospitals when they
are nceeded Lo replace absent cmployeces, There is a
growing demand for such services, and Mansford has buill a
rather large cash surplus. What grand strategy would be
appropriate for Mansford?

a. Analyzer

b. Defender

c. Growth

d. Retrenchment
e. Stability



21.The aircrafi cngine division of General Elcetric competes
with Pratt § ¥hitney and has its own mission and a
strategy that often differs considerably from other parts
of the corporation. Vhat would this division be called
in the business portfolio approach to strategy?
a. Independent business
b. Strategic business unit
c.Tactical business element
-d. Functional ares
€. Competitiive unijt

28. When Rayihcon used revenues generated from its defense
contract opcrations to finapce operalions in some of jts

other busincsses, i was using the defense operations as
a

a. slar.
b. question mark,

c. cash cow.

d. dog,

c. defender.

29.3-M is a company with a strong core of old standby
products, buil at the sage time it requires that a
relatively high percentage of its annual business comes
from products ihat did not exist five years ago. Using
the adaptation model of business strategy, 3-M would be
classcd as a/an

a.dciender.
b. prospector.
¢.analyzer,
d. reactor.

£. AgETess0r.
30. If the markeiing departiment adopts a strategy calling for

substantial tcsi marketing, aggressive advertising
campaigns, and inducing consumer produwcl irials, which of
the following is most likely the business strategy being
used by the company as a whole?

a. Analyzer

b. Defender

c. Prospecior

d. Cost leadership

e, Focus
31. Television ads for the new [lypermari storcs being opened

by Sam Walton show Sony television scts being chopped
into two picces by a sword-wiclding Samurai warrior. The
accompanying dialogue says "You can go elscwhere and
spend more or get considerably less Sony. "

Yhat compclitive sirategy does this approach represeni?
a.Differentiation

b. Focus
c.Overall cost lcadership



27.The aircraft cngine division of General Eleciric compeles
with Pratt & Vhitney and has its own mission and a
stralegy thai often differs considerably from other parts
of the corporation. What would this division be called
1n the business porifolio approach to strategy?

a. Independent busincss

b. Sirategic business unit

c.Tactical business element

-d.Functional area

e.Competitive unit

d. defender.
b. prospector.
c. analyzer.
d. reactor,

€. AEETESS0T.
30. If the markeling depariment adopls a siralegy calling for

substaniial tesi marketing, aggressive adverlising
campaigns, and inducing consumer product trials, which of

the following is most likely the business strategy being

28,
When Raytheon used revenyes generated from its defense used by the company as a whole?

c. Prospectior

a, siar.
d. Cost leadership

b. question mark,

c.cash cow. c. Focus
d. dog. 31. Television ads for the new llypermart stores being opencd
c. defender. by Sam Walton show Sony ielevision scis being chopped

inlo iwo picces by a sword-wiclding Samurai warrior. The

29 3-M 1 :
d-M is a company with g sirong core of old slandby
accompanying dialogue says "You can go clscwhere and

products, but at the sage lime it requires that a
spend more or gel considerably less Sony."

relatively high percentage of jts annual business comes
from products that did not exist five years ago. Using What competitive strategy does ihis approach represent?
the adapiation model of business strategy, 3-N would be a.Differentiation
classed as a/an b. Focus

¢.Overall cost leadership



d. Analyzer to that will fit your personal class schedule. What

e. Prospector would Herbert Simon call what you have jusi donc?
32.Yolvo tclevision ads frequently show the company’ s cars l. Bounded rationality
being subjected Lo crash tesis, to impress consumers with b. Irrational decision making
how well buill the cars are and to create the impression c.Optimization
that Yolvos arc among the safest cars on the market. d. Satisficing
¥hat compciitive business strategy docs this represent? e. Means-end inversion
a.Differentialion 35 Joe recently purchascd a new full-sized pickup truck. He
b.Overall cost leadership could probably have done very well with a smaller vehicle,
¢. Focus but he wanted thc one he bought. He did mot even look
d. Analyzer at many of the vehicles competitors offered. What madcel
e. Adaptation of decision making does Joc's behavior represent?
33. Managers at General Elcctric made a decision to scll off a.Classical
the corporation’s small-appliance division to Black and b. Rational
Decker.  Which of the following is the mosi accuraic \ c. Administrative
classificaltion of this decision? d. Scientific
a. Routine e. Regressive
b. Efficient 36.Mary Sloanc jusil mailed a qucstionnaire to a group of

c.Cynergistic people scattered across the couniry. She asked them to

d. Programmed predict when a new technology will be available for use

e. Nonprogrammed in industry. When she gets the responses, she will

3. You nced a psychology course for graduation. There arc consolidatc them and mail back the results to the group.

five diffcrent courses you could take. You look at the She will continuc this process until a consensus develops.

schedule of courses and choose the first course you come What group decision-making technique does this represent?



a. Nominal c. $123, 000

b. Interactiing d. 125, 000 units

c- Delphi | e. 25,000 units

d. Reciprocating | 39. Dave Dalton’ s business has grown from what was a one-

e. Reactive person operation 1o onc that cmploys 150 people. Dave
37.Several years ago, the Penn Central Railroad went has decided to reorganize the company by putting all the

bankrupt because of a serjes of very poor managerial production people in onc department, the marketers in |

decisions. In retrospect, i1 would seem that there was another, and so on. What form of departmentalization 1f

entirely too much emphasis in the group on presenting a he using?

united front and one ihe group reaching a consensus a. Functional

decision. As a result, many excelleni decision b. Product

alternatives were never considered. What disadvantage of c. Location

group decision making doecs this represent? d. Customer

a. Somination e. Sequence

i i ide how many subordinates 1o assign
ttomntoaisg 40. Ann is trying to deci

L ' to one of the first-line supervisors, and she has the
c. Irrationality

i information; The subordinates are well
d. Groupthink following in

qualified, they are all working on very similar tasks,

c.Coalitions and they are all locaied in one small area of the plant

38. You have fixed costs of $500, 000 and variable costs of $3 tne the other hand. the supervisor in question has a lar?

per unit. Your preduct sclls for §7 per unit and you quantity of paperwork to do each day. What should Ann
predict sals of 200, 000 uniis, What is thc breakeven do?

HOtkE? a.She cannot determine proper span from this inforsatiot
a. 166, 667 units b. It would appear that she should use a broad span of
b. $166, 117

control.



c. It would appear that she should use a narro span of Allentown caploy?

conirol, - a. Conglomerate (l-form)
d. Tt is hard to say. Half the factors dictaic a broad b. Divisional (M-form)
and half a marrow span of control. c. Functional (U-form)
e. Il really does not matter which vay she chooses to go, d. Matrix
41. Essex Incorporated owns a pizza chain, an insurance c. Hybrid
company. a chain of convenicnce siores, and a hardware 43 Ann is a member of the marketing departmeni and is
chain. Each busincss is rug by a general manager, and assigned to several product teams as the market rescarch
the overall performance of each business is evaluated by specialist. She is responsible to the directors of the
the Essex corporate staff. As of late, financial various tcams to which she is assigned and also takes
performance has been less than desirable. Which form of orders from the dircctor of marketing. What
organization design does Esscx haye? organizalation design does Ann's company apparently use?
a. Conglomerate (H-form) i a. Conglomerate
b.Divisional (M-form) b. Divisional
c. Functional (U-form) ¢. Functional
d. liybrid d. llybrid
e. Matrix c. Matrix
42. Allentown Incorporated has three different businesses, 44. Quaker Oals owns a number of companies, all of which
all of which arc related to various aspects of the hardwarc are related to its primary arca of cxpertise, namcly, the
business. The managers arc allowed a fairly high degree ' food busincss. On ihc other hand, it also owns
of autonomy in their operations, yet they coordinate Fisher-Price Toys. Which of the following organization
their activities as needed. Purchasing is highly designs would be logical for Quaker Dats?
centralized, but many other funciions are quite a_ Conglomerate

decentralized. What form of organization design does b. Dcpar tmental



c. Functional
d. llybrid
c. Matrix
15. Which of the following would NOT come under the broad

heading of organization change by means of changing

Sirategy?

a. Quaker Oats sells its Joseph Banks Clothing chain and

uscs the money Lo buy the Golden Grain Corporation.

b.A change from being a "prospector” 1o being an
“analyzer. "

c. Timex Corporaration beings marketing watches through
drugstores and discount stores rather than jewelry
stores.

d. Chrysler changes [rom producing cngincs in-housc Lo
having them produced by a Japancse firme,

¢.Changing the job specifications for a number of
positions in the organization,

46. ¥hilc mowing the grass one day, Paul figurcd out a way
to package the product he had been working on for the

past week. Paul is probably in which phasc of the creative

process?
a.Preparation
b. Incubatlion
c. Insight

17.

d. Yerificalion

c. Yalidation

At dinncr Doug became angry with Kim because she never
really listened to what he was saying. Insticad she
starced into space and seemed 1o be thinking of something
elso. Kim may be in which of the following phasecs of the
creative process?

a. Preparation

b. Incubation

c. Insight

d. Verification

e.Validation

48.Beth just finished preseting her ideas for a mew product

at a mceling of her co-workers. Y¥hile they all agreed
that it was a good idea, they were noi surc if they sk_ild
move ahcad with it. Some of the reasons they citcd
included too much competition with current products,
difficulty in locating ncw suppliers, and ihe number

of changes required in the currcent procedures. Beth's
jdea is falling prey to which of the following reasons
for failing to innovaic?

a, Resistance to change

b, Inflexibility

c. Inability to recognize opportunilics
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